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) Y
SECTION - I
qug - |
CHILD DEVELOPMENT AND PEDAGOGY
T faewre vd fremes
There are 30 questions in all in this section.
All questions are compulsory.

T WIS H &1 30 UIAE |

Tl wv aifHard € 1

results from the differences in the structure and function of the brain.
(A} Tension (B) Backwardness
(Cy  Duyslexia (D} None of these
_ fkren & deeT g1 gedl | fanle w1 gfora g
(A) THE (R) fuggrA
(IC)  Temeifa (D) T8 A =g
An individual whose mental quotient 15, is normally spoken of as mentally
retarded.
(A)  below 70 (B) above 70
(CY berween 80-100 (D) none of these
form arevant &t giis-wife | # WO 3% At gAanafEd @ 4 d wEd €
(A) 709 %4 (B) 0% FW
(C) 80-100 # ¥ (D) 4 § 5=

children have ability to absorb abstract concept.
(A) Backward (B) Gifled
{(C) Mentally retarded (D) Nonc of these

Fedl § HETOH UeGdt B URv i %) Zadl R € |
(C) wrfes w0 @ g (D) T W HRAR

Indirect methods of tension reduction are often knownas
(A) Problem solving method

(B) Defence mechanism

(C) Subjective technique

(D) None of these

1A W Y A F AW & FEA £

(A) Fr wE o

(B) VeI qifaar
(C) AT faf
(D) T | ¥ &
P.T.O.
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Which of the tollowing is not the problem of the socially deprived ?
(A) Lack of motivation for leaming

(B)  No opportunities ta develop creativity
(€Y Healthy conditions of their hving

(D) Facing discriminatory behaviour in the school
Bt 8 2 B ot wfes w5 R difag &) aren 78 B o
(A) T 3 fau fom & s

(B)  wereiem % difva 2 & s@wme A6t feerm

(€ & ¥ fow am whay |

(D) foarerm 3wt areneor & e

in Teaching Process student is
(A} Dcpendenl vanable

(B} Independent vanable
(C)  Intervening variable

(D) None of thege

Foreyor whiman W Tammet #
(A) Hiad 97
(R) AT
(C) oer =i

(D) =g wdaw

Which 1s not a type of Evaluation ”

(A} Norms (B) Formative
(€Y Summative (D) CCLC

fpe & 14 J i ol Wi R & 7

(A) T (B) FreoreTs
(€) 4meEs (D) HEli

https://www.pyqgoniine.com


https://www.pyqonline.com/

ST-1

10.

1.

(5)
NCF 2005 lays emphasison
{A) Leaming by doing (B) Rote method
(C) Solving the problem (D) All above
NCF2005sidme |
(A) & dER w (B) @AW
(C) W9&E €61 Het (D) Iatar wedt

Which of the following 1s not the part of the triangle of Evaluation ?
(A) Educational Objectives

(B) Evaluaton

(C) Teaching Experiences

(D) Leaming Expenences

fe & @i @ gedied & Faator @ v @ d

(A) Vs vy

(B) e |

(©) Ty s

(D) aqﬁ]'m:; HTE

Which ol the following stalements 1s not true about the importance of Action Rescarch ?
{A) The consumer is the researcher.

(B} The solution of the problems can be achieved quickly.

(C) The solution of the problems are put in practice and not evaluated,

(D} Naone ot these

fraTeds SETE & meva & aid 1 1R 0 ] 3 w1 e wd el E

(A} STHiE € AR & |

(B) WOEH & ¢ viwdr d wrdt @ A |

(C) GHEIH] & & 3naTd | & 7 Aen & 3T 39 et ART HaT Imen & |
(D) & A = T

According to RTE ACT, 2009 working hours per weck for teachers are '

{A) 40 hours (B) 42 hours
(C) 45 hours (D) 48 hours
IRAF, v 2009 F FER fomas ¥q vk v w92 §
(A) 40% (B) 4242
(C) asvz (D) 48 €¢

P.T.O.
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14,

Reasoning. curincife ,
fing, curiosity and abservation are developed at the age of

A) 7 ye
(A) 7 years (B) 11 years

{C Q ye '
C) 9 years (DY 6 years

ﬂ%,?ﬂmmhﬂamwﬁamﬁmuﬁm%_ WA W
(A) 7o (B) 11 99
(Cy 9ag (D) 6=t

Area of physical development s

(A) Nervous system (BY Growth of muscles
(C) Endocrine plands (D)  All above

wWiE fem arany

(A)  ENgHTES (B) Aty #t g
(C) Uz gy (D) 37t wd

“Environment 1s an extermal force which influences us.” Who said this 7
(A) Woodworth (B) Ross

(C) Anastasi (D) None of these

“FTATET o @R 3 & A g it & & e 0 9o

(A) oot (B) W

[a}

(C) TAREH (D) 7t A+ et
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15, The theory of transfer of leamning by Thomdike is called
(A) Similarity principle
(B) Theory of identical elements
(C) Theory of formal discipline
(D)} None of these
s F=wm & GRS e wer o @
(A) qarTen e
(B) & aval & fgra
(C) e Frawt = faer
(D) o A+ @

16.  Which of the following is not the law of Heredity ?

(A) Similanty (B) Vanation
(C) Regression (D) Motivation
fr=r /& ® W FeEn & T e
(A) S (B) fu=mn
(C) WeHnTHA (D) sfem
17.  Attheageof _ the visual and auditory sense development is almost complete.
(A) 3 ordyears (B) 6or7 years
(C) 8 or9 vears (D) None of these
&) ST T A ) g ud e 3 ot e o gaw €
(A) 3 a4 e (B) 6 3mar 7 74
(C) § 3rgan 9 @y (D) ¥/ FE A

18. In this stage the children develop great love of explonng and wandcrning

(A) Infancy {B) Later childhood

(C) Adolescence (D) Maturily

T e § I i i e Y A g @)yt age s wg el ¥
() HeE (B) T ATEHA

(C) T () s

P.T.O.
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19.  Which of the following is an example of Acquired Motives ?
(A) Hunger (B) Reward
(C) Interest (D) Rest
e 3 9w s st
(A) & (B} TN
(C) ®f (D) fasm

20. Motivation is characterized by

(A) Cogmtive Arousal (B) Affective Arousal

(C) Both (A) and (B) (D) None of these

srfesrom afere wet &

(A) TTHTEE AR ER (B) MIdIEEH A 51

() T (A) 3T (B) (D) v A FE
21. Thinking 1s mental activity in the _ ___aspect.

(A) Cognitive (B) Affective

(C) Psychomotor (D) None of these

o frm e W

(A) THATH (B) wrawE®

() T (D) 49 7 =i TR

22.  Under signal learning, which of the following is leamnt ?

(A) Traditional accommodation

(B) Psychology

(C) Environment

(D) Psychophysical

W STy & S A S €
(A) TR L
(B) wlfaA

(C) HRmEm

(D) wARe=w
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A3,

24,

[
W

26.

9

Individual differences are found in

(A) Imelligence level (B) Attitudes
(C) Motor ahiliies (D) All above
Al o I A &

(A) FewERH (B) afirfir s
(C) e ataen o (D) v ot &

What is essential to start the process of thinking ?

{A) Past experience (B) Language
() Reasonung (D) Problem
fermere W 713 & T &0 Hiavaw & 7

(A) gat-a (B) s

(C) T (D) HEEn

The concept of Intelligence Quotient (1.Q.) was developed by

(A) Binct (B) Reid
(C) Terman (D) Cattell
() A B) #E3d
(C) @33 (D) &

The description of personality based on external appearance 13 called
{A) Deep view

(B} Surface view

(C) Nommative view

(D) Observational view

14T AT % ITITY O e B ot @61 e &

(A) TIFA s

(B) WO e

(C) T e

(D) WeqTTea gfeein
p.T.0.
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28.

29.

30.

(10) ST-1

Which of the following is not the causc of backwardness ?
(A)  Lack of native intelligence

(B)  Physical defect

(C)  Specific backwardness

(D) Healthy environment

= 3 2 2w fodwr w e i

¢y fafre flegs
D) = FEE

The first typological classification of personality was presented by

(A) Munn (B) Sheldon
(C) Hippocrates (D) Cattell
i &1 UEH THRIeE STiET W (a1

(A) "= (B) ¥ezad
(C) feombea = (D) e

General and specific factor theory was propounded by _

(A) Alfred Binet (B) Spearman
(Cy Gulford (D} Thurstone
Ay e Safore e TRgr @ whaued fear ar

(A) e A (B) e
(C) FrererE (D) w@T

Which of the matives is relatively stronger in children from progressive families 7

(A) Affihation (B) Curiosity

(C) Achievement (D) Aggression
st qfvam 7wt F siduga B B W A v wa g
(A) TR (B) Foremen

() IvAr (D)  smwrom
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31.

32.

33.

35.

36.

37.

(11)

LCLE S|

e - |

et

W EUS H He 30 59 & |
wult vy afqard

fofEn siefs & g &
(A) A #E (B) fram dwm
(C) aw-faar (D) =ew #Ew
T 5 o e 4 e W aEws
(A) =R TemErn
(B) aImwag fawrr
(C) waa wa! fasmar 3= e
(D) 3= TR 99
fyoz e  wiwiera =d T o g
(A) WHER-IH (B) W=
(C) wmaaTws; (D) formerm aixad
SITEFT &2
(A) & e
(B) IWIE IRITHEF I A W@
(C) (A)d(B) &
(D) 3o ® TH
gyl = umifen & gipE FEm T
(A) @’ 4 e (B) TEEH =AM
(¢ T i (D) Teenfaat = fim
forardl ) aregt Srverta fHa T % e o @ Tl 8 0
(A)  awfre (B) ST
(C) T (D) wAEP
Fa;nﬂngimw%mﬂ&q@’tmﬁmtmﬁaﬁﬂ?ﬁm?
(A) HHEA (B) T
() = (D) e
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I8, STERIEE fewior g
(A) et} wfggl 1 ITTR EW 8 |
(B) BT & urre 21 @ Iy A £ | )
(C)  ort # wrsif o frqr 57 38 g0 FE ¥ Fowor &0l €
(D) $& % 7wt |

39. IRV HERA & wd foem arail § s wifiw 2
(A) Wrfye (B) Tmafs
(C) Iwaamais (D) Fex Fana 4

Frefefaa T & s o v e 40 ® 44 7 & 37 AU -

WRA ¥4 W ¥ o1 wge & | ey g @ e et g i 3 agat faw
o &, 7o %% 71 | AR T os wehe sivr § andt o g en & — aRy, N T e e
R F 7= ¥ | 3% wgw aw @ i SEe F 6 O R ofea @ mn  frad e wieEa
e ot TN 8w ¥ o sy, Wiak, WIeER, 9RREEE - vt Rl St et % A
IR ¥ fret Ff, o for el AwEt et e oo I wet et § | shomraey fafae agd
ST 3 @, fafieet glelt s iy Fefnd @ fawamm; A & fau #iet 9 &9 o e A @
?i|ﬁHtﬁ21ﬁHﬁﬁﬁﬂ%’TmﬂmzﬁH¥mm?|$ﬁwﬁamﬁﬁ#ﬂvﬂﬁmf@
dyraniadl & WUy 9E o 3 3@ 1 3 ST & Wer nEEl % waraers] 9T gund wt wietedl &
fomtor & sfem @ |
40. o v Forsw Fasd wfu o vegw < @ T g E

(A) arifaat (B) W’H’Iﬁ'ﬁq}

(C) e (D) LUAGE (0o

41. & & ar w1 Ay et wore w0t & wam g

(A)  wa.ufaama (B) wiAangyl

(C) =g (D) e
42. aﬁdm:rwramm#mmﬁmméﬂmmgw%;

(A) HIdla (B) u=EEm

(C) 3 (D) Feafrza
43, & AqEY GUE #1 W T W e s o

(A) e (B) sty

(C) vaiei (D) watfirg
44. TH Y B W AE g £ o

(A) ¥ (B) sgr

(C) wis (D) s
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Crfifiga e I T T F. 45 F 49 T & e difora |
W?W-ﬁdﬁrﬁ:ﬁaaﬂﬂmﬂrn& lEE AT AR A Ml 6 | SR NG W G A A o |

it T e

Y

¢ 1 7 TR st | ot o T R S e | zpen O R, T i w4

gy Su 3t AT A A 8 @ ol 1 9 2 o W ) i Y s e S we w § o
w1 | A8 &8 av 331, Tl 3 wiEfEw B FEE & fw <ot | @k F saet wE 3 4 F e faerd |
Wﬂ?@ﬂﬁﬁnaﬁaﬂﬁﬂﬁmﬂﬁ?ﬁ,vﬁ?rrﬁmm,w,qmsﬁtﬂré-aﬁ*ﬂaﬁmmﬁﬁ'I

406.

4R,

49,

50.

&1,

T T WA W1 ¥ T T8 87
(A} Y™ (By M@
(C) Fa (D) ¥

“FEE I F W TH A R S W €
(A) W (B) &= §d
(C) T ud (D) #foyga

w7 fag % T & TEeE 79 ¥ fw ve w1 agaas 9 @0

(A) (B) Tia
(C) ™ (D)
T A T v & fam 7l s

(A) 31 3 | By &=
(«©) w2 (D) =M1

T F 0 9 T agdad U ) ugE s
(A) CEiE | (Ry w1
(¢ T (D) e

&yeT AR FEe WA | W6 I §
(A) Tehe aTd® (B) Tourw arm=
(C) & dE® (D) foem ams

71 3 i e e g i A E 10 v A faT R R
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33.

54,

55.

56.

57,

59.

6.
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_ (14)

ST 3 1 Fog g e 5 AT 8 el @ e S TR E 7

(A) TH Ty (B) fm ol

(C) ¥ areey (D) woqE v
I A o §

(A) Tttt s (B) i ¥ ot dge W W T
{C) W%qm«iﬂﬁ‘ﬁz (D) a‘g’_q@ﬁﬂﬁ%ﬂ

"G W e B o oa g

(A) &M Bt 9 weare wed ¥ #w 1 A7
(BY Gt woigdt 33 W vt o g &
(C) wmuror s W & 3fe 01 o

(D) o1 3m % e =T

Tt st Foreror =) fafu &
(A} 3tqvor fafe
(C) vmaT yyligmen

& Y W G R

(A) T8 F 9T I = @A |

(B) W2md M2 U & A & fow st A
(C)  |ovd &t Qg 1 G &

(D) wafyE o= A 5 3= %

(B)
(D)

ey fmeaar & 3umE €

(A) I HET FUFTH (B)
(©) IF (A) d (B) TFI (D)
Fa & wm de A EFAF IR

(A) V= &1 3udl

(B) @t 3§ e it wgiv # @gH]

(C)  Tomas 7 a8 & 4 vl ) A

(D) 3% il

s fafy & FOT = T 2

(A) 9 (B)
(C) @m (D)
forequr iyt &1 3G oA ST &

(A) ma\?m (B)
(C) gt | (D)

Fma Fme fafa
ayde it

Lo Foreper 39T
3% 0 A H A6l

¥ =

T F T
w1y TR
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k)

2.

33.

15.

36.

(15)
SECTION-11
LANGUAGE-I

ENGLISH

There arc 30 questions in all in this Section.

All guestions are compulsory.

Proper speech habits can be developed effectively through
(A) Vocabulary practice (B) Quizzes
(C) Ductations (D)} Pronunciation

Language skills can be leamt better

{A) if they are taughl in an ntcgrated manner.
{B) waith the help of challenging drills.

(C) through written tests and practices.

(D) iftaught in 1solation.

A video 15
{A) anaudio aid (B) a visual aid.
(CY an audio-visual aid {D) none of above.

Audio-visual aids make learming

(A)  easy. (B) . interesting.
(C)  effecuve. (D) all of these.
Unit Test 15 an expression ol evaluation.

(A) normative (B) effective
{C) fomnatve (D} cognitive

Proficieney tests include

(A} speaking (B) reading

(C)y wnting (D) speaking and writing
Communicative compelence tests take into account

(A) grammatical accuracy. (B) situational appropriateness.
(C) tluency. (D) all of ahove.

In objective type questions choice is provided.

(A) hmuted (B minimum

(€C) mulbple (D) no

The basic requirement of a language proficiency test 1s that it must be
(A) complex (B) rehable

(C)  ambiguous (D) simple

P.T.O.
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Passage (Q. Nos. 40 to 44) _ o
“The Kingfisher is a bird that gets its name because it truly 15 a king arnong_lhelﬁ?rht;atﬂn?g
birds. In catching fish it sits on a limb of a tree that hangs over 2 stream, looking into the water
beneath. Then, as it sights a fish, it drops like a stone into the water. Seconds _latcr 1ldpaps ulp
with the fish in its bill, In addition to fish, it eats worms, crabs and selfish. ‘lt is foun Tlcnst y
near the fresh water streams of Europe and North America. The Kingfisher's cry is shn and
picrcing. The North American Kingfisher, called the belted kingfisher, because of o belt of blue
feathers acrass its white breast, is larger than the Furopean variety. The European kingfisher is 4
beautiful bird. its feathers are bright blue, orange, deep red, pink and green.

40. Find out the word from the text which means ‘branch’.
(A) hill (B) limb
(C) shrill (D) popsup

41. The opposile of ‘polluted’ 18
{A) fresh (B} belted
(C) piercing (D) bright

42.  Which of the word is correctly spelt ?
(A) Enthusiastic (B) Enthusastic
(C) Enthuesistic (D) Enthesistic

43. The adjective ‘beautiful can give us the noun
(A) beautfy (B) beauty
(C) heautifully (D) beautifulness

44. Find out the word fram the text which means “a small current of water’.
{A) stream (B) pops
(C) shnil (D) drops

Passage (Q. Nos. 45 10 49)

Animals may become extinct in many ways. First of all they may evolve into another species
and not really die out of all. For example, through time, many early form of horses and human
beings have progressively changed by evolution into new specics. The old species has changed
and not really die out, so this is called pseuda extinction.

The Second common way, in which ammals have died out, is for a single species to
disappear because of some local disturbance. Many animals that have very special diets, for
example, could die out very easily if their source of food goes down. It is thought that ce;Tain
species of dinosaurs were adapted to eating particular kinds of reedy plants. When these
disappeared, those particular species of dinosaurs starved and died out. )

45. The words ‘extinct’ and “particular’ are
(A} adjectives (B) adverbs
(C) nouns (D)} wverbs

https://www.pyqgoniine.com
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46.

47.

48,

49,

50.

52.

(17
Which of the following phrases has a determiner in it ?
(A) Forexample (B) The old species
(C) Local disturbance (D) Starved and died out

The verb in the sentence “The old species has changed and not really died out” is in
(A) simple present (B) simple past
(C) present perfect (D) past perfect

Which of the following has the three degrees of the adjective in their correct form ?
(A) early - earlier - earliest

(B) hot - more hot - hottest

(C) easy - mare €asy — most easy

(D) special — specialer — specialist

The verb in the sentence "It is thought that certain species...” is in
(A) simple past (B) simple present
(C) present progressive (D) none of above

Which question 15 correct in its structure ?
(A) How did she complete the task ?
(B) How she completed the task ?

(C) How did she completed the task ?
(D) How she did complete the task ?

“1 knaw him." The passive voice form of the sentence will be
(A) Heis known by me. (B) He knows me.
(C) Heis known to me. {D) None of the above

Which of the following contains the words beginning with the same consonant sound ?
(A} Charm - Choice (B) Church = Chemistry
(C) Cheap Keep (D) Ship - Chip

Which of the following contains the same vowe] sound ?
(A)  kid - beat - tight (B) deep - keep — sweep

(C) find - seat - kite (D) feed - fine - mean
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54,

55.

57.

60.

(18) ST
Choose the correct phonetic symbol for the medial sound of the word ‘magliine’
(A) /st (B) /dz
© (D) At

The basic language skills are

(A) listening - speaking - reading - translation
(B) speaking - talking - answering ~ expressing
(C) listening - speaking - reading — writing

(D) reading - writing - questioning — communicating

Language leaming 1s related to
(A) knowledge (B) skills
(C) power (D) copying

Bilingual method was suggested by
(A) Dodson (BY Smith
(C) Herbert (D) Redson

The grammar translation method emphasizes
(A) Oral fluency (B) Command over specch

(€) Use of mother tongue (D) Listening and speakimg

Structures and pattems are used as a leaching unit in
(A) Direct method

(B) Structural method

(C') Grammar and translation method

(D) Project method
The productive skills of a language are

{A) listening and writing {B) reading and writing

{C) speaking and listening (D) speaking and writing
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SECTION-HII
LANGUAGE-II
ENGLISH

There arc 30 questions in all in this Section.

All questions are compulsory

61.  Which of these is not a causc of disorders ?
(A) Socio-ccanomic, emotional, environmental and educational causes
(B) Excessive use of toffees, chocolates and fast food
(C) Poor model
(D) Repression and overcontrol by parests and teachers

62. Which of these is the goel of communicatve approach ?
(A) Appropriateness (B) Acceptable languages
(C) Fluency (D) All of these

63. Inpresent era English language teaching is facing
(A) over emphasis on grammar  (B) lack of language laboratory
(C) teaching through translation () all ofabove

64. Unit testis an expression of cvaluation.
(A) normative (B) formative
(C) effective (D) alfecuve

65. Highly reliable test is
(A} objective type (B) essay lype
(Cj true and false (D) nonc of these

66. Who has suggested four steps of teaching as plannng, organizing, leading and
cvaluation ?

(A) J-K-Device (B) Bloom
(Cy Billows (D) Simpson
67. Which of these is the strategy of remedial teaching ?
(A) Action research (B) Programmed tesl
(¢) Both(A)}and(B) (D) Nane of the above

68. The aim of remedial teaching 1s
(A) to diagnosc learmng difficulties.
(B) to eliminate ineffective habits
(C) reteach incarrectly leamt skills.
(D)  both (B) and (C)
P.T.O.

Scanned by CamScanner https://www.pyqonline.com


https://www.pyqonline.com/

Y ST-
(44) 1

Prose : (Q. Nos. 69 ¢ 73)

There is no shpﬂ Cut to success. The route to success js hard and 10N8- Cﬂnszs:tenrtc}égrd:vc;rk 1\5 the
Mam secret of success. Those who shun work are bound to fail. The second ingredient of success

i perseverance. Perseverance i the steadfast pursuit of an aim without &Y let-up f1rlh|ndrancc_
T_hcre may be difficulties, obstacles, hurdles and barriers in your path, but you dﬂn l 1ave o get
discouraged, disheartened and frightened. You have to push on with fortitude. Temptations of

comfort and enjoyment have to be brushed aside. _ " v
Another important and indispensible requirement for success IS concentration. A your
attention and energy should be riveted to your aim in life. You should nat be able to think of

anything except your geal. No digressions and deviations.

69.  In the above paragraph the word *second” indicates
(A) sequence (B) addition
(C) emphasis (D) time

70. Which one of the following is the most appropriate title for the passage ?
(A) Aimof Life (B) Hard work and Success
(C) Shortcut of success (D) The Seccret of Success

71. Hard work 1N SUCCess.
(A) rm‘uhl (B) results
(C) resulted (D)} none

72.  In the above passage the author wants to convey
(A) Success is the result of hard work.
(B) Perseverance is essential tor success.
()  To get success, get nd of all obstacles.

(D) All of above.

73. People do hard work,
Hard work 1s essential for success,
So people are hard working.
Above lines contain
(A) the fallacy of hasty generalizaton.
(B) the fallacy of false analogy.
(C) the fallacy of equivocation.
(D} the fallacy of composition.
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5T-1 (45)
Poetry (Q. Nos. 74 to 78)
Extract:
1 The seed | spent or sown it where
2 Tl_w tand is his and none of mine ?
3 Wespeak like strangers, there’s no sign
4 Ofunderstanding in the air, '
5 This child 1s built 1o my design
6 Yetwhat he loves | cannot share.
Extract: 2
7 Sll]Ei'ICE surrounds us. | would have
b Him prodigal, retuming to
9 His father's house, the home he knew,
10 Rather than sce him make and move
11 His world, | would forgive him too,
12 Shaping from sorrow a new love
Extract: 3
13 Father and son, we both must live
{4 On the same globe and the same land,
15 He Speaks ' | cannot understand.
16 Myself, why afger grows from gnef.
17 We each put out an empty hand
18 Longing for somcthing to forgive.
74.  The rhyming scheme of Extract-1 1s
(A) abbaab () abbcde
() abcedef (D) abbaba
75.  Line “Silence surrounds us. | would have” contains
(A) alliteration (B) assonance
(C) simile (D) personification
76. In the above poem which line contains simile ?
(A) Onlylne3 (B) Only line 5
(€) Both lines 3 and 5 (D) None of above
77.  Whach lines in Extract-2 contain *Assonance’ 7
(A} 910,11 (By 7.11.12
(C) 7.9.10.12 (D) all ol abuve
78.  Which lines match in rhyming in Extract-3 ?
(A) 14,15,17 (B) 13,14,18
(Cy 13,15, 17,18 (D) 14,15,16
70, E\-:r}.(}nc o follow the traffic rules.
(A} <an (B) may
(C) could (Dy must
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(46)
Terrorists are rying to several bridges.
(A)  blow yp (B) breakdown
(C) fallout (D) none
The draplatic monologue, a technique of drama, is a -
(A) D'Ialﬂguc with self by the character.
(B) 1tis for the audience. the stage.
(C) It expresses mind and innermost feeling of the character On HI&
(D) Allof above.
The English sonnet has et
(A} Three quatrains and a couplet (B) Two quatrains and a coupie
(C) Four quatrains and a couplet (D) None of above
The elegy s a
(A)  Mouming or lamentation poem.
(B) Itis formal and sustained poem. :
(C) Itis judged by its theme or subjcet matter not by it’s meter or stanza form.
(D) All of above
What does the word ‘diphthong’ mean ?
(A) One sound (B) Two sounds glide
(C) Single word (D) Double words
Monophthongs are in numbers.
(A) 8 (B) 9
(C) 12 (D) 14
The correct transeription of the word *examination” is
(A) MAgZxml'nellary (B) ‘ekdzeminelan/
(C) /egzeminefan/ (D) ‘erdeaminelan/
The correct transcription of the word ‘classes” is
(A) klaslz/ (B)  /klasedz/
(C) /klesedz/ (D) Alasldz/
The corfect transeription of the word *English’ is
(A) /Ingli)/ (B} /Ingli/
(C) /english/ (D) englis/

Which of these is a constituent of communicative competence ?
(A) Grammatical compelence

(B) Strategic and socio-linguistic competence

(C) Discourse competence

(I3)  All of these

Delayed language development is called
(A) deficiency {B) aphasia
(C) dumbness (o) llandu:ap
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(A) dfomr & 309 &8 ugge odfter &

(B) dfenr &t gut & v dem fanfes ws daw o ugfor 72 |

(C) fefemradir & ugel 2 aa Y 3 Dieadt yow feos swa wfoer §

(D) dfonr €t 837 T weeT & %3 |

3% fesfmr fed, fyogr -fiffinr 2 A8 9T s sm wfe dm uwer 3 .

(A) BBTE AT T AST o I 5 T Fm T

(B) €8 T8 e fiffipsr & I8 WE A garer T |

(C) B5v8 2 fAus par feferredin & Soon gu der &

(D) HmEs 2 TS pre feferradt ferraafex famr o yor fmrs omg 293 fovs
Fﬁﬂﬂﬁ’ﬂ*ﬁaﬁél
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6l.

62.

63.

65.

66,

(63)

W~
BN
Pradl

WL WAL 54 30 wsAdl .
£35 Wartell U wual s 6.

D]l o Aafes wieet sl sl 2w @ 2
(A) s (B) 21l
(€ salse fla (Cc.D) (D) 3342

Graellal qabl faw e f #3306 7
(A) irglay uglnwl (B) GRa-58ml vi0URFH
(€ d-24a-dl uglnad (D) Gl o4 %

Red Wdin el susad s g 529 o= 7
(A) Feuellui yueidld wadlsd 2.

(B) i [aslrn »ilogun da,

(C)  sudsll-l wlepuy weal

(D) FRlasdll aftnny sl

faruellrt Heuisl sw valt 56 6 2
(A) lr yeuis+ (B) widalMs seuls
(€) <ulls yeuis (D) Actet Y5

Py eliola Al Pl Fsaan 5§ uqfel dle wsy & 2
(A} Hddu (B) viddigduir
(C) WA (D) G425t il %

Tuaoell s wal bal usie-l gl § 7

(A) Caenellsl (B) [uasd<l

() Cuas-lfaawdl 31 (D) GuRlsd 2AsusL ]
P.T.O.
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5T

Y (64)
67.  Aui-isid eafiuid &6 ool Wi vy w3l © ?
(A) eAsell (B) ausre
(©) Eeilfe (D) Gualsct ol ¥
68. s glaerni LAl 58 ousanl agde adt 1ol ?
(A) sy (B) wURle-udRlS
(C) ues G R (D) 3e? Sl

A 2 s sum2 wssnis 69 o) 73 warlel aiol il

WAL qzin el wsknl ndl dadladl @ wl édl aEfa gal vl
WA wlew wld)l gl suunazdsi sirdlad wad QA odl 2udi galdl alewdl dysing
el slell 2nesifid AR v 3ol sall yawedl qunug waaer M4 Greollyi
el R e e, R MR Amy, slua- sellliy 2g s, AL-BRRUAL U Q3
Ml weryd 2 R0 e ad wad olldadd UM HIR IS HIMR say
el

69.  GuRAsd deinmi sy o o3| #¢f] ?
(A)  dyrl (B) usld
(C) wqr (Dy usquyy

70. ool o woed asral 3 A i ¢
(A) Ay (B) =isu
(C) [aslwgt (D) Gulyawe

T A M ust 3 3ad 6 2
(A) MHrdy | (B) [ayye
(C)  [([aaium (D) [Bulaslug

72, cadazgr wsel 3l gl gl
(A) <didl + 4281 {B) dld + #iq3g
(C) ad, + 48 (D) et + i 19339y

73 raldidzel wlosu Wil iy @ 2
(A)  dyN (B) &=
(C) Guye (D) w=loyy

https://www.pyqgoniine.com
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(65)

i e MR U watenis 74 o] T8 Wsley apoqtol 2L ¢

.

76,

77

8.

79.

80,

R 1T ey 2y o

a8 ol § L sl i o

wl” efladi di ¢ sllval s i wzani

d (adl ot sl i wul wly 2y

o anfl sl oy widdl

o A W3 sl -

g1zl oL s g Wleestd ysl Misuis avll wsdl
ot -5l AR 541 s0U A Akl 244

A e wZbi ay elu 21q die e el

sfad 4 aH 8 7

(A) oML (B)y il

() uall (M) sl

sl o g HisHis @l wsai ? o

(A) ulzsd (B) wig uestd
() Mldif M (D) WA

R o] Hugenn sirel ol ¢ ?

Ay wdl By wHu

() Wl (D) it

sl s wvai Wl wladi v ?

(A) A&l (B) AR

(C) 9N (D) ¥l
Higuis'Hi 5y dled 97 |

(A) et Aled (B) & dled

(©) (avsd wied (D) (aur Wed
alfst 2 © i Fola qid 87 ¥ U5l A W 7
(A) AUg US4 (B) #HYsd A
() yel asu (D) [aly ws

LA il Barue s s 547

(A) @l A1 d A (8) o edll ufl.
(C) »ustgi sl dl. (D) § wpel 2l Q.

https://www.pyqgoniine.com
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81.

82,

83.

84,

85.

86.

87.

R8.

20,

(66) 8T
AAUNS 4 3Ruglar e g ual 2

(A} *elw sizq) (B) wig? 43

(C) A uq (D) [t g1 wdl.

‘Betlay fni'au U - sddddl B sdoq 55 6 0

(A) old dAi ez day (B) »is wid A dz 42

(C) & s34i st y) (D) el g4 el

‘b e B 1 qusuedl us sul 0

(A) HIE Uy (B) [Ald sy

(C) G sy (D) wtisud A

(M-t sl saual ve Giaell e ugle 545 2

(A) vy wgly (B) qa-i uald
(€ AMd-x1iy wgly (D) it veld
ML (B8 G121 ousmi b 4sdR sy oA & 2

(A)  uiagleszel (B) wsulyflsam
(©) alds s (D) ™Sy
iy veld dai wsiedl ygla 6 »

(A) [aeud{3- (B) [maski~l
(C) [nas-laend] 31 (D) adldl
UL SR Slus Ui 2 v e s o 2
(A) &=t (B) su~

(C)  dun (D) «iu

syl slaeyd] wduee wiy 8 7
(A) S4Bl (B) s#e
(C) 4w (D) ol

opens 2 [Batsedll icllad w2 g %33 4§ 2
(A) [avwumal (B) [Riaa
(C) AsHR{leR] (D) woyy

wgrya sl sui cselHl st @l uda wdl 4 ¢

(A) Huyw (B) 331
() 3% (D) dus ylyy
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o1,

2.

(67)

SECTION-1V /g - IV

MATHEMATICS / Tifora
There are 30 questions iy all in this section,
All questions are compulsory
WEEAFA I T |
it o o §

‘I the given figure ZBAC = 30°, ZABC = 50° and ZCDE = 25° then ZAED =

A

B C
(A) 105% (B) 115°
(C) 95° (D) 75¢
¢t 8 a1 ZBAC = 30°, ZABC = 50° T ZCDE = 25° § @ ZAED =

(A) 1057 (B) 115°
(Cy 9s5° (Dy 75°
Two lines AB and CD cut each other at Q. If ZAOC = 50°, then £BOC =1
C B
50°
O

A D

(A) 40° . (B) 507

ﬂw?mﬁ;ﬁmﬁm%@mm@? 1 qfe ZAOC = S0° &, @l ZBOC =2

(A) 40° (B)

130°
° D
(C) 140 (D) PT.0.

https://www.pyqgoniine.com
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Y (68) _
93, i’[‘he diagonal of a rectangle field is 17 m and jts perimeter is 46 ™- What I the aies ofthe
icld ?
(A) 112 sqm (B) 120 sqm
(C) 132 sqgm (D) 289 sqm

Fexit arammee e o ot 17 5, ey ofa 4 . & 2 v W P ATH T 2
(A) 11234, (B) 120@f 4.

(C) 132 &t o, (D) 289 =t =t

94.  The sum of length of 2 sides of a triangle is always
(A) less than third
(B) greater than third

(C) equal to third

2
(D) Elo third

ferelt g of 3t ot @t e 1 @iy wda @m
(A) et son & et
(B) et o & g

(C) it v & et

(YT

(D) et o =

https://www.pyqgoniine.com
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(69)

Y

95. The ratio of volumes of 2 cubes is 27 : 64. What will be the ratio of the areas of surfaces *

96.

(A) 3:8 (B) 3:4

(€) 9:16 (D) 2764

= T F S # aeE 270 64 & | s T et 3 st 1 S ¥ 6 2

(A) 3:8

(B) 3:4
(C) 9:16 (D) 27:64
Mathematics is the Science of
(A) Space (B) Education
(C) Calculations (D) Life of Human
L LGACEICE S
(A) ®H & (B) Tmra
(C) o @ (D) TFa e

“Mathematics is the mirror of civilization and culture.” Who said this statement ?

(A) Bacon (B) Hogben

(C) Locke (D) Dutton

rifor g S HRpT & 0 & 1 4F Hu fper war?
(A) %4 (B) &4

©) (D) =&

https://www.pyqgoniine.com
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(70}
Which of the ﬁm]l-:swing, 1s right ?

(A) (a-bP2a?+p2_ g
(B) (a- by sa?+ b2 2ap
(€Y (a~b)R=a2_25h + 12
(D) (a~b)" =22 + 25 + 2
FEA g mad ao

(A} (a-b) za?+ b= 24h
(B) (@a-b)gal+pl 2u
(C) (a-b)=a2_23p+p2

(D) (a_,b):.'—_az,|. :,_Iab+b1

What is the importance of Mathematics at Primary level ?

(A) Cultural (B) Social
(C) Religious (D) Mental
Wt T o nfore & w1 e @ 2

(A) wiepfas (B)  wmfes
(C) wrftis (D) W

https://www.pyqgoniine.com
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100-

101.

102.

g}

Most of use of Mathematics done in the act; vities of Human life, that is

(A} Culwral (B) Psychological

(C) Social (D) Economical

v % St B vt 3 v o vl S ek wd

(A) Hiegia® (B) Wiy
(C) A (D) STIE{GT

Evaluation is closely related with

(A) Content (B) Evaluation strategies
(C) Objectives (D) Process of learning
eI &1 Faeaq avay e &

(A) Fovges @ (B) g wiaheal &
(C) T H (D) et w1 frgat @

Difference between achievement test and diagnostic test is

(A) of objectives (B) of nature

(C) of level of difficulty (D) none of these
oa'qaf‘ﬂ it wE At o F HERE

(A) 3w # (B) S &

(C) e w + (D) ¥ & wrd

https://www.pyqgoniine.com
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103.

104.

(T2)

The most important characteristic of objective type test s

(A) Reliability (B) Validity
(C)  Objectivity (D) Alf the above
e wthy @ gatfue vt favam &
(A) favagam (B) Fm
(C)  awqiesen (D) Iwzm wfl
Which work is not related with a teacher ?
(A) Planning {B) Guidance
(C) Teaching (D) Budgeting
BT | FA OE & W 6 0
(A) dar= (B) wriE¥A
(C) Fompr (D) WA T

. Most effective teaching aid 1s
{A)} Non-projected (B} Direct experience
(C) Projected (D) None of these
Haifias semaene! feron awnd &
(A) Fioa (B) W s
() wef (D) ¥ | HR &

https://www.pyqgoniine.com
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100.

107.

(73)
When the number 3% is divided by 3, the Terﬁaindﬁ:r is

(A) |

(B) 2

e

(€)
(D) 4
e 3% & S F a2 o By e

(A) 1

[ %]

(BY

LIS

(©)

(D) 4

4-(2 994+ 3241+ discqualto
(A) |17
(By 16
(Cy 15
(D) 12
4-(2- 90 +3 ] +ITAE )
(A) 17
(B) 16
(€) 15

(D) 12

https://www.pyqgoniine.com
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108. Ten thousands + Ten ones + Ten tens equals

(A) 10110 (B) 11010
(C) 1001] (D) 101010
T BN + T T + TH KB A0ET

(A) 10110 (B) 11010
(C) 10011 (D) 101010

109. Number of minutes in 10 days is equal to the number of seconds 10
(A) 2hr (BY 3hr
{C) 4hr (D) S5hr
10 fe=ft +f firret ) s e e et & Asvel A wwn &
(A) 2% (B) 3w

(C) 492 (D) 5u¢

110. Which of the fraction is least ?

(A) 72 ® 11
© o =
fred 3§ &5 @t s ge wid 20

n = ® i
© = ™) 22

https://www.pyqgoniine.com
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il Which expression is trye ?

(A) —16>-15
(B) -16<-20
¢y -16>1

(D) -16<-3
FH Y BT T W L0
(A) -16>-15 .
(B) -16<-20
€) -16>1

(D) -16<-3

112. The least number which is a perfect square and is also divisible by 10, 12, 15 and 1818
(A) 3600 (B) 2500
(€©) 1600 (D) 900
a7 BtA A ot F= @ Fen & Qe g e 10, 12,15, 18 R ot e @ 2
(A) 3600 (B) 2500

(C) 1600 (D) 900

113, (256)° '8 x (16)'¥ will be equal to
(A) 4 (B) 16
(C) 64 (D) 25625
{256]“ 16 5 Uﬁ)n.tﬁ EARIGH g“m]
(A) 4 (B) 16

() 64 (D) 25625

https://www.pyqgoniine.com
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i or number of these p,,
114. Two numbers are in ratio of 3 - 4 and LCM is §4. Wwhich is the larg o
numbers ?
(A) 2 (B) 24
(C)y 28 (D) 84

Ty nm——r L LA A
(A) 21 (B) 24
(C) 28

(D) B4

. 4
I15. What is the LCM of P

)
27

=g LV

L w

E=11%

1
¥

(D) None of these

4

5 1 YR FEA w18 7

L o] W]

125
3'-'6

(D) w & Rl

https://www.pyqgoniine.com
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116,

117.

118.

on
The average of 3 . . | )
number ? ¢ Numbers is 7 and average of first two numbers is 4. What is the third
(A 13 (B) 13
C) 7 ) 4

citS HEmH B 7 ¥ 7en veeh < vt w awa 4 3 1 A sEmwAE?

(A) 15 (B) 13

Moljalj purchase a car in ¥ 2,50,000 and sold in ¥ 3,48,000. What is the percentage of
profit in car ?

(A) 40% (B) 39.2%
(C) 38.4% (D) 38%

fieT ¥ ©F W T 2,50,000 ¥ = A 2 3,48,000 F 39 A 1 3R W W e s @
g 2

(A) 40% (B) 39.2%

(C) 384% (D) 38%

Ram loses the cost of & pens on selling of 144 pens. What is the percentage of loss ?
(A) 2 (B) ©

(C) 14 (D) 4

144 9 T T 0F F 6 TR & forra e & e @fT @ & 1 @by vl s €2

(A) 2 () 6

(C) 14 (D) 4
P.T.O.
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(78) S

. ) . o . oy "V
119. At what rate the simple interest will be %[imts to the ongmal sum in [0 years ”

(A) 4%, (B) 53%
3
(C) 6% (D) 6%':,'-1,

. 2.
WWEIMHQ}M!HW loﬁmmamwﬁﬁmﬂ

4 >
(A) 4% (B) 5%
o 2
(€) 6% (D) 63%

3 P - .
120. In 1'0‘1‘! many years interest of ¥ 3,000 will be 2 1,080 at the simple intercst rate of 12%
annually

(A) 3 years
(By 2% vears
(C) 2 years
(D) 3% years

Tt &t o [2% 9 20 & T 3,000 1 MR = 7 1,080 & Jrdnyr 2

(A) 3
(B) 2 &
(C) 2%
(D) 3ned

https://www.pyqgoniine.com
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121.

(79

SECTION-y y@gug -V

ENVIRONMENTAL STUDIES / GQTaT0T 37&a

There are 30 questions in all in this section.
All questions are compulsory.
WEERFA IO W E |
vt W e ¥

In which ot the following the garden cultivation is studied ?
(A) Botany

(BY Horticulture

(Cy Geology

(D} Anatomy

fma ¥ 1 Temd 3o sy w1 o= fen s @ 2
(A) =i

(B) ®eiwe

() g

(D)

. “Science may be defined as an ordercd knowledge of natural phenomenon and the rational

study of the relations between the concepts in which thase phenomenon are cxpressed.”
The ahove mentioned definition of Science is given by

(A} W.C. Dampier

(By B.S. Bloom

(C) Karl Popper

(D) JL.W.N. Sullivan
~mm§ﬁﬁmﬂﬂmﬁm@mmwﬁ%mnﬁaﬂmmﬁﬁmﬁ%ﬂﬁﬁ
ferqg wrae g1 € 17

T e e oo e €0

(A) s=g@ TP

(B) #iww =M

(C) e W

(D) 3wy A giewad

P.T.0.
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123, Which is the principle of Learning Environment study ?
(A) Principle of necessity
(B} Principle of utility
(C} Principle of relationship with life
(D) All of these

TR ege & st & fegrd I w g
(A) IE¥EEHT = Hg=

(B) 3matfiren & fagr

() siew & atag &3+ fagr=

(D) @it

124. Which of the following is desirable aim of Science Education at Primary level 7
(A) To know the facts and principles of science and its applications.

(B) To nurture the natural curiosity, aesthetic sensc and creativity in science and

technology. https://www.pyqonline.com
(C)  Toimbibe the values of honesty. integrity and co-operation,
(D) All of these.
fm%mﬁﬁmmmmwﬁmmmmaﬁ%ﬁm%?
(A) Taam & aai i fagret va 98 Aguamt =t saan
(B) Wit Forsmam, Wrducamet 1 SN ] faae ud vraifirad G 51 G )
(C) ¥R, weafen afi aRdi & o1 #1 Merwa He |
(D) Iogaw it |

https://www.pyqonline.com
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25,

126.

(81)
How many main steps are followed in project method *
(A} Four (B) Three
(C) Eight (D) Six

(A) wm B A=

(C) == (D) &

Which gas 1s responsible for *Global Wanning' ?

(A) Nitrogen (N,)

(B) Methane (CH,)

(C) Carhon dicxide (CO,)

(D) Sulphur dioxide {S0,)

F57 F A Teitaw e & e IEE €
(A) FERH (N,)

(B) ®47 (CH,)

(C) = grsiiems (CO,)

(D} WERT SEITERS (SO,)

https://www.pyqgoniine.com
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127.

128.

ST
(82) !

Principle of ‘Specific to General” is used in -

(A) Analytic method

(B) Heuristic method

(C) Synthetic method

(D) Inductive method

fafime @ a5 e f A T wyh gt @ 2
(A) Fasetgor fafy

(B) vam-wing fafy

(C) Heeaor fafy

(D) s fafiy

To create interest in subject Environment Studies in lower classes, the teaching method
used, must be

(A) Inductive

(B) Recreative and game related

(C) Cramming

(D) Deductive
ﬁmﬁmﬁﬂwﬁwmmﬁﬁmm%mmmmmm
(A) FHA

(B) Al vd @ gt

(C) &=

(D) Fmes @

https://www.pyqgoniine.com
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129.

130.

(83)

What 15 the charactenstics of a good question paper ?

(A) Validity
{B) Reliability

(C) Both(A) & (B)

(D) Comprehensive

¥ WEA-9F @t fawva £
(A) Ao

(B) Tavawddiar

(© (A)F(B)<Hl

(D) =ETaEar/ fasgd

Which is projected aids 7
(A) Bulletin Board

(By O.HP.

(C) Model

(D) Flannel Board
et siftrer et & 2
(A) qEEH aré

(B) #tua,

(€)" wfmr

(D} A A

https://www.pyqgoniine.com
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Y (84)
131. Which is not a characteristic of a family 7
. ‘o ether.
(4)  Aueast two differcnt adults of different gende” living 108

{B) The income of each member deposited scparﬂfﬁllf-

{C} They use samc house, food and perform common social activities.
(D) Common responsibility for secunty and children.

w3 B favimen war F 74 # 0

(A) TR Ew &t fa e arel s T el |

(B) VeI W i i et s e A 8

(C) & WA FEH, W 37 T —— e Lk

(D) T Gd qeA b W IS |

132. When National Child Labour Elimination Authonty was formed ?
(A) 16" August, 1996 (B) 5™ June, 1930
(C) 22" July, 2002 (D) 26™ September, 1994
TR AER S IO ) S e T o 7
(A) 16 37K, 1996 (B) 59, 1990

(C) 22 FT, 2002 (B 26 famee, 1994

133. In which vear Child Mamage Prevention Act was passed in India ?
(A) 2006 (B) 200%
(C) 2011 (D) 1997
e 3 et faar frn sifufas fee =t wfte e m a9
(A) 2006 (B) 2008

() 2011 (D) 1997

https://www.pyqgoniine.com
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(34. Which is nota cormect maycp, 2

Type of Cloth State

(A) Firan - Jammuy & Kashmir

(B) Pano-Bhaju West Bengal
(C) Rahide ~ Himachal Pradesh
(D) Phulkan ~ Punjab
= W gofea T &

Lick 08 Loy e
(A) &= ~ WO W WYY
(B) um-uI ~ ot s
(©) ofe femrae wewr
(D) gEwER - dow

135. Which of the following stones is not used for flooring of the houses in Rajasthan ?

(A) Marble (B) Kota stone

(Cy Soap stone (D) Sand stone

frfefaa o @ 9 a1 vt o o =1 & w3t e o 35T w1 e a2

(A) ETHIR (B) ®&®H
(C) i et (ASTEEY) (D) #vz®H

136, Which type of fertilizer is useful for gardening ?

(A) Urea (B) Sodium Phosphate
(C) DAP (D) Vermi Compost
AT & fert 1 2 WER W 39 I e ¥

(A) g (B) uifsaw wighe
(Cy Frod (D) = T

https://www.pyqgoniine.com
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137,

138.

139,

140.

(80)
Which 15 not a correct match ?
Fair State
(A) Ambap Fair - Guyjarat
(B} Magh Fair - Uttar Pradesh
(C) Nainadevi Fair - Assam
(D) Bencshwar Fair - Rajasthan
& | R 161 22
o =
(A) ST de ~ A
(B) W o | - IR
(C) Fat e - ¥Eq
(D) ureay Wey - T

Where Rajasthan State Chemical Works is located ?

(A) Deedwana (B) Nagaur
(C) Barmer (D) Parbatsar
TR e iy qad Fa7 i § 2

(A) ZrzamT (B) MR
(C) g (D) wETT

In which year Consumer Protection Act was introduced in India ?

(A) 198] (B) 1985
{Cy 1986 (D) 1988
v A Tl s s e o e v o o
(a) 1981 (B) 1985
() 1986 (D) 1988

The total number of Members of Parliament from Rajasthan is

(A) 20 (B) 25
(C) 22 (D) 24
TR & FoT T wEE & e €

(A) 20 (B) 25
(C) 22 (D) 24

https://www.pyqgoniine.com


https://www.pyqonline.com/

sTil
4.

142.

143.

th))
Where will you find ciliated epithelium in body of animals ?
(A) Stomach (B) Bronchiole
(C) Intestine (D) Airsac
e ITHAT W] & T o e et & 7
(A) HHFE (B) vawfwm
(C) (D) 91 i
Which of the following is not a simple tissue ?

(A) Xylem (B) Parrenchyma
(C) Collenchyma (D) Sclerenchyma
fefrr s mam sae @ ¥ 7

(A) “TRem (8) W
(C) wiewRm (D) TEITHE

Malaria is caused by
(A) Plasmodium falciparum
(B) Entamoeba
(C) Retrovirus
(D) Salmonella
welfear Ik gt & (s SR H)
(A) RITEE R
(B)  wandtan
€) T
(D) wenren
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144.

148.

146.

ST

(B8)
- fIndia?
Which of the following is one of three biodiversity 1ot spots 0
(A}  Aravalli Hills {(B) Khasi Hills
(C}) Himalaya (D) None of the ghove

fmﬁﬁﬁﬂﬁmmm%ﬁ:mﬁmzﬁzﬁ;#ﬂﬁ??
(A) et frma (B) @ f (eifed)

(C) feurerm (D) Fwden § A HE T

Which 15 the State Animal of Rajasthan ?
(A) Tiger (B) Cow
(C) Camel (D) Sheep

T & TG 9] $H | 2
(A) "™ (B) "

(C) (D) W8

Concave mirror can form image when the object is placed very close to the mirror
(A} Real, Ercct and Smaller

(B) Virtual, Ercet and Magmified

(C) Virwal, Opposite and Smaller

(D) Real, Opposite and Smaller

Faad Tqu & Arad Free a9 fama 7 @ | ol vk et

(A) aTEdTas, Wit ud sie
(B) mare, T vd Hafi
(C) ¥, 3eier 1& wie
(D) wEfa®, I v Bid
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§1-1
147,

148.

(89)
Which is not a source of air pollution ?

(A) Automobiles

(B) Industries

(C) Solid Waste

(D) Dust Particles

aTq ST | w wl d
(A) 4TS

(B) =M

(C) 3w e

(D) YA & &0

Which statement is correct in the following ?
(A) All melals are tensile,

(B} All non-metals are tensile.

(C) Generally metals are tensile.

(D) Some non-melals are tensile.
Pt 3 & 7 1 99 T €7

(A) Tl wiqd 7T Eel §

(8) w s e e &

(C) wTETA: MR & & & |

(D) e sl a= et € |
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Y
149.

150,

(90)

Which is not a renewable resource in Rajasthan 7

(A} Hydro Electricity

(B) Natural Gas

(C) Wind Energy

(D) Solar Power

T 1§ F17 W A GEE 76§

(A) e e
(B) Wl e
(C) &1 F
(D) dFet

Which of the following is not listed as wetiand in Ramsar Convention ?
(A) Wooler Lake

(B) Rudrasagar Lake

(C) Keoladeo National Park

(D) Rajsamand Lake

frefefer f A PR w s O S gR T WA T 22

(A) TF e

(B) TEER A

(C) ¥aERe TR A

(D) TeEA=< i
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REET 2015 (FINAL KEY)
LEVEL-| COMMON QUESTION No. 1-30
{Child Development and Pedagogy)

Code-W Code-X Code-Y Code-2 ANSWER
1 26 17 9 C
2 23 18 10 B
3 24 15 11 B
4 25 16 & D
5 30 21 13 A
g 27 22 14 A
7 28 19 15 B, C
8 29 20 12 B
2 4 25 17 C
10 1 26 18 B

11 2 23 19 D
12 3 24 16 D
13 g 29 21 B
14 5 30 22 C
15 6 27 23 D
16 7 28 20 C
17 12 3 25 B
18 9 4 26 B
19 10 1 27 C
20 11 2 24 A
21 15 6 28 A
22 13 7 29 A
23 14 5 30 C
24 19 10 2 C
25 16 11 3 C
26 17 8 4 A
27 18 g 1 C
28 22 13 5 D
29 20 14 6 B
30 21 12 7 B
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REET 2015 KEY FINAL (LEVEL-I LANGUAGE-I)

LEVEL-] LANG-1 HINDI (31-60)

LEVEL-I LANG-1 SINDHI (31-60)

Code-W | Code-X | Code-Y | Code-Z| ANSWER Code-W | Code-X | Code-Y | Code-Z | ANSWER
31 54 45 41 C 31 54 45 41 D
32 55 46 42 A 32 55 48 42 A
33 56 47 43 A 33 56 47 43 B
34 57 48 44 C 34 57 48 44 D
35 58 49 45 A 35 58 49 45 B
36 59 50 46 C 36 59 50 46 A
37 60 51 47 B 37 &0 51 47 C
38 3 52 48 C 38 31 52 48 D
39 32 53 49 C 39 32 53 49 A
40 33 54 50 B 40 33 54 50 B
41 34 55 51 D 41 34 55 51 C
42 35 56 52 B 42 35 56 52 B
43 36 57 53 C 43 36 57 53 A
44 37 58 54 D 44 37 58 54 B
45 38 59 55 B 45 38 59 55 C
46 39 60 56 C 46 39 60 56 B
47 40 31 57 C 47 40 31 57 D
48 41 32 58 C 48 41 32 58 B
49 42 33 59 C 49 42 33 59 C
50 43 34 60 B 50 43 34 60 BONUS
51 44 35 3 C 51 44 35 31 D
52 45 36 32 C 52 45 36 32 D
53 46 37 33 C 53 46 37 33 A
54 47 38 34 C 54 47 38 34 D
55 43 39 35 A 55 48 39 3b D
56 49 40 36 B 56 49 40 368 C
57 50 41 37 BONUS 57 50 41 37 D
58 5 42 38 D 58 51 42 38 C
59 52 43 39 A 59 B2 43 39 B
60 53 44 40 A B 60 53 44 40 D
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Code-W | Code-X | Code-Y | Code-Z| ANSWER Code-W | Code-X | Code-Y | Code-Z | ANSWER
31 54 45 41 31 54 45 41
32 55 46 42 32 55 48 42
33 56 47 43 33 56 47 43
34 57 48 44 34 57 48 44
35 58 49 45 35 58 43 45
36 59 50 46 36 59 50 46
37 60 51 47 37 60 51 47
38 H 52 48 38 31 52 48
39 32 53 49 39 32 53 49
40 33 54 50 40 33 54 50
41 34 bb 51 41 34 b5 51
42 35 56 52 42 35 56 52
43 36 57 53 43 36 57 53
44 37 58 54 44 a7 58 54
45 38 59 55 45 38 59 55
46 39 60 56 46 39 60 56
47 40 31 57 47 40 31 57
48 41 32 58 48 41 32 58
49 42 33 59 49 42 33 59
50 43 34 &80 50 43 34 60
51 44 35 31 51 44 35 31
52 45 36 32 52 45 36 32
53 46 37 33 53 46 37 33
54 47 38 34 54 47 38 34
55 45 39 35 55 48 39 35
56 49 40 36 56 49 40 36
57 50 41 37 57 50 41 37
58 51 42 38 58 51 42 38
59 52 43 39 59 52 43 39
60 53 44 40 60 83 44 40
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Code-W | Code-X |Code-Y | Code-Z| ANSWER Code-W | Code-X | Code-Y | Code-Z | ANSWER
31 54 45 41 3 54 45 41
3z 55 46 42 32 55 48 42
33 56 47 43 33 56 47 43
34 57 48 44 34 57 48 44
35 58 49 45 35 58 49 45
36 59 50 46 36 59 50 46
37 60 51 47 37 60 51 47
38 3 52 48 38 31 52 48
39 32 53 49 39 32 53 49
40 33 54 50 40 33 54 50
41 34 55 51 41 34 55 51
42 35 56 52 42 35 56 52
43 36 57 53 43 36 57 53
44 37 58 54 44 37 58 54
45 38 59 55 45 38 59 55
46 39 60 56 46 39 60 56
47 40 31 57 47 40 31 57
48 41 32 58 48 41 32 58
49 42 33 59 49 42 33 59
50 43 34 &0 50 43 34 60
51 44 35 3 51 44 35 31
52 45 36 32 52 45 36 32
53 46 37 33 53 46 37 33
54 47 38 34 54 47 38 34
55 48 39 35 55 48 33 35
56 49 40 36 56 49 40 38
57 50 41 37 57 50 41 37
58 51 42 38 58 51 42 38
59 52 43 39 59 52 43 39
60 53 44 40 60 53 44 40
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Code-W | Code-X | Code-Y | Code-Z| ANSWER
31 54 45 41
32 55 46 42
33 56 47 43
34 57 48 44
35 58 49 45
36 59 50 46
37 60 51 47
38 31 52 48
39 32 53 49
40 33 54 50
41 34 b5 51
42 35 56 52
43 36 57 53
44 37 58 54
45 38 59 55
46 39 60 56
47 40 31 57
48 41 32 58
49 42 33 59
50 43 34 60
51 44 35 31
52 45 36 32
53 48 37 33
54 47 38 34
55 48 39 35
56 49 40 36
57 50 41 37
58 51 42 38
59 52 43 39
80 53 44 40
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LEVEL-] LANG-2 HINDI (61-90)

LEVEL-I LANG-2 SINDHI (61-90)

Code-W | Code-X | Code-Y | Code-Z| ANSWER Code-W | Code-X | Code-Y | Code-Z | ANSWER
61 84 74 1 61 84 74 71
62 85 75 72 62 85 75 72
63 86 76 73 63 86 76 73
64 87 77 74 64 g7 77 74
65 88 78 75 65 ge 78 75
66 89 79 76 66 89 79 76
67 20 80 77 67 20 80 77
68 61 81 78 68 61 81 78
69 62 82 79 69 62 82 79
70 63 83 80 70 63 83 80
71 64 84 81 71 64 84 81
72 65 85 82 72 65 85 g2
73 66 86 83 73 €6 86 83
74 67 87 84 74 &7 87 84
75 65 88 a5 75 68 88 85
76 69 89 86 76 89 89 26
77 70 a0 87 77 70 a0 87
78 71 61 28 78 71 61 88
79 72 62 89 79 fe 62 89
80 73 63 a0 80 73 63 90
81 74 64 61 81 74 64 61
g2 75 65 62 82 ™ 65 62
83 76 66 63 83 76 66 63
24 77 67 64 84 77 67 64
g5 78 68 65 85 7B 68 65
g6 79 69 66 86 79 69 66
87 g0 70 67 87 80 70 67
g8 81 71 68 88 81 71 68
g9 82 72 69 89 g2 72 69
90 83 73 70 90 83 73 70
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Code-W | Code-X | Code-Y | Code-Z| ANSWER Code-W | Code-X | Code-Y | Code-Z | ANSWER
61 84 74 71 61 84 74 71
62 85 75 2 62 g5 B 72
63 86 76 73 63 86 76 73
64 87 77 74 64 87 77 74
65 88 73 5 65 g8 78 b
66 g9 79 76 66 g9 79 76
67 a0 80 77 67 a0 80 77
68 61 81 78 68 61 81 78
69 62 82 79 69 62 82 79
70 63 83 20 70 63 83 80
71 64 24 81 Fa| 64 84 81
72 65 85 82 72 65 85 g2
73 €6 86 83 73 66 86 83
74 67 87 84 74 &7 87 84
75 68 88 85 75 68 88 85
78 69 89 86 76 69 89 g6
7 70 20 87 7 70 90 87
78 71 61 88 78 71 81 88
79 72 62 29 79 72 62 g9
80 73 63 20 80 73 63 a0
B1 74 64 61 81 74 64 61
82 75 65 62 82 75 65 62
83 76 66 63 83 76 66 63
B84 77 67 64 B84 77 67 64
85 78 68 65 85 78 68 65
g6 79 69 66 86 79 63 66
87 80 70 67 87 80 70 67
88 81 71 68 88 81 71 68
g9 g2 72 69 89 g2 72 69
a0 83 73 70 90 83 73 70
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Code-W | Code-X | Code-Y | Code-Z| ANSWER Code-W | Code-X | Code-Y | Code-Z | ANSWER
61 84 74 71 61 84 74 71
62 85 75 2 62 g5 B 72
63 86 76 73 63 86 76 73
64 87 77 74 64 87 77 74
65 88 73 5 65 g8 78 b
66 g9 79 76 66 g9 79 76
67 a0 80 77 67 a0 80 77
68 61 81 78 68 61 81 78
69 62 82 79 69 62 82 79
70 63 83 20 70 63 83 80
71 64 24 81 Fa| 64 84 81
72 65 85 82 72 65 85 g2
73 €6 86 83 73 66 86 83
74 67 87 84 74 &7 87 84
75 68 88 85 75 68 88 85
78 69 89 86 76 69 89 g6
7 70 20 87 7 70 90 87
78 71 61 88 78 71 81 88
79 72 62 29 79 72 62 g9
80 73 63 20 80 73 63 a0
B1 74 64 61 81 74 64 61
82 75 65 62 82 75 65 62
83 76 66 63 83 76 66 63
B84 77 67 64 B84 77 67 64
85 78 68 65 85 78 68 65
g6 79 69 66 86 79 63 66
87 80 70 67 87 80 70 67
88 81 71 68 88 81 71 68
g9 g2 72 69 89 g2 72 69
a0 83 73 70 90 83 73 70

https.//www.pygonline.com



https://www.pyqonline.com/

Code-W | Code-X | Code-Y | Code-Z| ANSWER
61 84 74 71
62 85 75 2
63 86 76 73
64 87 77 74
65 88 73 5
66 g9 79 76
67 a0 80 77
68 61 81 78
69 62 82 79
70 63 83 20
71 64 24 81
72 65 85 82
73 €6 86 83
74 67 87 84
75 68 88 85
78 69 89 86
7 70 20 87
78 71 61 88
79 72 62 29
80 73 63 20
B1 74 64 61
82 75 65 62
83 76 66 63
B84 77 67 64
85 78 68 65
g6 79 69 66
87 80 70 67
88 81 71 68
g9 g2 72 69
a0 83 73 70
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REET 2015 {FINAL KEY)

LEVEL- COMMOM QUESTION No. 91-120

{Mathematics)

Code-W Code-X Code-Y Code-Z ANSWER
91 118 112 104 D
92 1186 113 105 A
a3 117 111 1086 D
94 120 114 108 C
95 119 115 107 C
96 93 117 109 B
97 91 118 110 BONUS
a8 92 116 111 B
29 95 119 113 A
100 94 120 112 A
101 97 91 115 A
102 96 92 114 D
103 a9 93 117 B
104 98 94 116 B
105 102 96 118 A C
106 100 97 119 B
107 101 a5 120 C
108 104 98 a2 A B, C
109 103 99 91 D
110 107 101 93 C
111 105 102 94 A
112 106 100 95 C,D
113 110 104 96 D
114 108 105 97 B
115 109 103 98 D
116 112 106 100 D
117 111 107 99 C
118 115 109 101 C
119 113 110 102 B
120 114 108 103 A
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LEVEL-1 COMMON QUESTION No. 121-150

(Environmental Studies)

Code-W Code-X Code-Y Code-2 ANSWER
121 147 139 132 BONUS
122 144 140 133 B
123 145 137 134
124 146 138 131 A
125 150 142 135 A
126 148 143 136 A
127 149 141 137 B
128 123 145 138 C
129 121 146 139 B
130 122 144 140 C
131 125 147 142 C
132 124 148 141 C
133 127 149 144 B
134 126 150 143 D
135 129 121 146 B
136 128 122 145 A
137 131 123 148 D
138 130 124 147 D
139 133 125 150 AD
140 132 126 143 B C
141 135 127 122 D
142 134 128 121 B
143 137 129 124 C
144 136 130 123 B
145 140 132 125 D
146 138 133 126 A
147 139 131 127 B
148 143 135 128 C
149 141 136 129 BONUS
150 142 134 130 B
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